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Multiple Choice Practice!

7. The solubility product, K, of AgClis 1.8 x 107'°. Which of the following expressions is equal to the molar
solubility of AgCI?

a. (1.8 x 107192 molar c. 1.8x 107" molar
1.8x1071° @ v1.8 x 1019 molar
——2——- molar

Ksp = [AFIECED =x* = 1B -10 D x=Juse-o

8. Which of the following is equal to the solubility product, K, of Ag,CO3?
a. Ky = [Ag*][CO3*7] (<) Kep = [Ag*17[CO5*]

b. Kg = [Agt1[CO5%7]2 d. K. =[Ag*]?[CO;* ]2

9. |If the solubility of BaF, is equal to x, which of the following expressions is equal to the solubility product,
Ksp, of BaF,?

2 2 3 I 3
a. X b, 2x c. 2% \gD 4x

K. = (8 3TET = x(2x) =Hx]

S i-:‘w

10. In a saturated solution of Na;PO,, [Na'] = 0.30 M. What is the molar solubility of NazP0,4?

f/;) 0.10 M b. 0.30M c. 0.60M d 090M
- L —1 . N30 M
L H 5,% A= ;i X = X = — = 0,10 ad

11. What is the maximum mass of AgCl can dissolve in 100. mL of pure water at 25°C? The molar solubility of

AgClis 1.3x 107, 1.9
(a) 17%107" g b. 17%107°g c. 91x107g d. 91x107°g
= 7
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